Degressiver Kostenverlauf

x:=0..10 Produktionsmenge

Ky(x) = 150 In(x + 1) Variable Kosten
Kg:= 100 Fixkosten

K(x) := K¢ + Ky(x) Gesamtkosten

X = K(x) =
600 0 100.00
1 203.97
2 264.79
400 3 307.94
4 341.42
K(x) 5 368.76
6 391.89
200 7 411.92
8 429.58
9 445.39
0 l l 10 459.68
2 8 10
x:=1..10
ky(x) = ) Variable Stiickkosten
X
ke(x) = % Fixkosten pro Stlick
k(x) := K Gesamte Stiickkosten
x = ky(x) = k() = k(x) =
1 103.97 100.00 203.97
2 82.40 50.00 132.40
3 69.31 33.33 102.65
4 60.35 25.00 85.35
5 53.75 20.00 73.75
6 48.65 16.67 65.31
7 44.56 14.29 58.85
8 41.20 12.50 53.70
9 38.38 11.11 49.49
10 35.97 10.00 45.97
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